Rl K2

SRR NER
BB AFERERFEEIAENARBRTAR
R F R B & AT wesR |nE-gssy B o=

@ HIBBARERTSHEARERTRRER | ROETAENR | RIEI1BER
@ YR ERERT S BN EE BN RARERTRRES " "
B HIBRAREBRET S EHARBRTARES " "
@ YRR SRR EFTEN R B RT ARER " "
@ HIE R R B R E R Ui SIER o FE AR S ATH L AR R IR T AR T " "
® SRR EHBE R I-EHRARBRT ARES " "
@ HIER R ERRE RtV DIRRE AT H AR ERT RRER " "
HIBE 0 B K FEE TS RIGEATAM FARIR IR T R EH " "
DHBREREBITS ENARBRT RREBNR
1 BENACKERMERTE

n =& BE|HEH w =
2 & H 1| & (PRI 15mER
El 2 & 11 & 15[E1#
= ANy BIRASR 127 &
ERXAR B AN 2R 29| &
& 17 pal 2 40 &
F = ] 10 &
=1 £ % B 14| &
E IR 11 X |#HA
E IR 11 = [EEA
2 BRGHXARRE

" B BE| MR w &
mE *F K £ & 11 &
il i i 11 &
H X 1z 10 I |15 E AR (15m x 20413mm)
28 AXAYF 10| =
= R KT 10f =
K R 1| =& |3v9U—rERTFKiE, KE15m
v 7K B 54 11 K [RESBDOH
3 JHAFE

n B B E|TR w &
woxX B XK B 11 & [BEX50%
wmoX H K B 34| X |EEH46,108
weRg-BrE 20 X [BERROEE
4 WHRE

" B BE|TR w =&
MM E fEBR 11 &
5 FELT

SRS BWE|WH " &
B £ KT 71 &
6 B

SIS BWE|WH w &
(i} iR 1] =




QBB AREBTERNEE HHARBRTRREBAR

1 BEINCRERAIE R

N ®HE|FR w =
EBRAR B R 2R 43| &
% = 2 11 &
] g £ B 2| &
2 JHKZHRE

N =B HE|FR w =
woxX B K #F 7| A |EER46,10%
3 AH MR

N HE|FR w =
7ok OH N KR B 6 = PAN-100, $5K33KeMEH R %5820 (64 x 2~ %)
4 BLiR

N B HE|TFR w =
[ #R 11 =
QiR EREBAETE HTARBRTRABREBNR
1 BEAKEHRAEE

N B #E|FER w &
= 15 e 1| & |[PR2E 1EKR
EFRAAR MBI REANSE 16| &
EBRAR B R 25 2| &
E g2 % & 2| &
5 iR 11 ® |BA
5 iR 11 K |EEA
2 HAHBE

N B BE|MR w =
woX B K #F 4] A |BER4610%
3 BEiiR

N B BE|MFER w &
[ # 11 =




@HRFRERBEEN HHARKRTRREBAR

1 BEICRERAE R

n r HE|FR w =
- g 3 11 & [PE2:R
EBX AR BRI 30| f&
ERX AR B R AR 10| @&
& & paI = 1| &
* g = 11 &
B £ % B 3 &
E Y 1l X |¥EH
ES iR 11 &K |EEA
2 JHXKZHRE
N B HE|TFR w =
woxX B K #F 20| & |BER46,10%
3 ECfR
N B B E|TR w &
5! 5 1 =

OHBEERRER o 2—HBRPFEEZA HIHA

RIERT RREBAR

1 BB

SIS BWE|HEH B &
= g B 1| & [PE2#%
= ANy BRIRASR 24| &
EB X AR B BRI 55 7] &
OB A = 1| &
b 1§ 2 11 &
g5 2 ¥ & 2| @&
S bl 11 £ |#HA
B bl 11 X [EEHA
2 HNHRE

SIS HE|HEH w &
woxX B X 2B 10| =&
3 MEXNKEREE

n B BWE|HEH " *E
B Y 1 =
= 1§ 2 11 &
g5 2 ¥ & 1| &
x i 2 1| &
REERBLEKR 1 R [BRHEZET
4 FRig

SIS BWE|HH " =
i #® 1 =




OHREXRHRE Rt 2— EARBRTRREBRNR

1 BENNRERAIER R

N =B B 2| w =
= & 1 1| & |[PR2ak
2 AR VBB 20| &
ER AR B RIS 4 &
EOBR m % 2| {&
% & = 2| &
T & £ E 2| {&
B R 11 X |#H
S iR 1| K [FEEA
2 JHAHRE

N = B 2| w =
wmoX H K B 7| A |EER46,10%
3 ERfR

n = %= | F A " &
[ R 1 =
DHREERBEREUI—HIRREXZAT HFRARIERT RRER
1 SHAERE

N B B E|WF R w =
wmoxX B K B 3| & |&EE=H46,108

@ % i DX K B B AT R FE R JE B A

RIERT RREBAR

1 JHAERE

oS

FEF5

]

¥R H K &

x

&E=4,6108

MER



